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M 79 kL = m
@ 9 om = m
@ 57 mL = cm
@ 3 mL = kL
® 12 mL = dL
® 33 L = m
M 40 m = cm
® 19 kL = m
@ 1 dl = L
(10 6 kL = L
an -4 cm = kL
a2 9 do = kL
a» 1 L = cm
a9 1 m = kL
(15 2 cm = mL
a1 L = dL
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HWROEME DR (BEX)
Z Al H H s VA
M 79 kL = 79 m an 6 m’ = 6 kL
@ 9 em® = 0000009 m & 4 m? = 4000000 mL
@ 57 mL = 57 com a» 1 L = 1000 mL
@ 3 mL = 0000003 kL o 89 d. = 0.0089 m"
& 12 mL = 0.12 d. @eh 69 kL = 69000000 mL
© 33 L = 0033 m @ 45 mL = 0000045 m’
M 40 m® = 40000000 cm ey 22 d. = 2200 om
® 19 kL = 19 m en 40 m° = 40000 L
@ 1 d = 0.1 L 09 17 mL = 0017 L
o 6 kL = 6000 L @ 1 em® = 0001 L
v 4 cm® = 0000004 kL en 3 kL = 3000000 cm"
a2 9 d. = 0.0009 kL 0o 4 d. = 400 mL
a1 L = 1000 cm @ 25 kL = 250000 dL
an 1 m? = kL @y 30 L = 0.03 kL
s 2 om® = 2 mL @h 33 em® = 0.33 dL
a 1 L = 10 d @ 2 m°’ = 20000 dL



